   SỞ GD&ĐT BẮC NINH                                             ĐỀ THAM KHẢO KỲ THI TNTHPT NĂM 2023  
    TRƯỜNG THPT PHỐ MỚI                                                          BÀI THI: NGOẠI NGỮ MÔN THI: TIẾNG ANH
                                                                                   Thời gian làm bài: 60 phút; không kể thời gian phát đề
      Đề thi có 5 trang                                                                        ( 50 câu trắc nghiệm)

Họ, tên thí sinh:…………………………………………………………………………

Số báo danh:.................................................................................................................... 
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. fame
            B. baby
        C. many
   D. plane

Question 2. A. theory
            B. therefore
        C. neither
   D. weather

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.

Question 3. A. approve 
B. perform
C. finish
D. believe

Question 4. A. assignment 
B. library
C. paragraph
D. sympathy

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5.The painting ______ by the artist captures the beauty of the landscape. 
A. paints 
B. painting 
C. painted 


D. is painting 
Question 6. Bao Yen sings______than this singer.

 A. well
B. bad
C. better


D. more good

Question 7. She will find a bunch of flowers in front of her house _______.
A. once she opened the door
B. after she had opened the door

C. before she opened the door
D. as soon as she opens the door

Question 8. Not many people are aware ______ male preference in this company.

A. with
B. on
C. about
            D. of

Question 9. The library is very quiet, ______?

A. wasn’t it                     B. isn’t it                   C. has it                             
D. is it
Question 10: My friend plays ______ guitar beautifully in a popular local band.

A. Ø (no article) 
      B. an 

       C. the 


           D. a

Question 11. The local clubs are making every  to interest more young people.
A. volunteer                   B. effort
C. donation 
            
D. fund 

Question 12. If Bill loses his job, at least they have Mary’s income to ______on.

A. fall behind                B. fall for
C. fall back 

           D. fall under 

Question 13. Tom hopes______ a solution soon.

A. to find

    B. finding

       C. find


           D. found

Question 14.  Martin is called the teacher's pet by his classmates because he is taken under his teacher's ______
A. hands                       B. arms                        C. wings 
  
D. legs 

Question 15. We______ about the future when the teacher came in.

A. were discussing
B. will discus            C. has discussed
             D. had discussed

Question 16. High schools across the country should ______ hands to address the problem of cyberbullying.

A. hold
B. shake
C. lend


D. join

Question 17. A new textbook ______ by that company next year.

A. will  publish        
B. will be published
C. are  published
             D. publish
Question 18. Parents should be ______ of their children’s decisions on future career.

A. support
B. supporting 
C. supportively 
            D. supportive

Question 19. Candidates applying for this position must have a master’s______ in science.

A. diploma
B. degree
C. licence
            D. certificate

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

Question 20. Hung is inviting Lan to join the youth club.

- Hung: “Would you like to join our youth club?”

- Lan: “______”


A. Thanks a lot! 
B. My pleasure. 
C. Yes. I’d love to! 
D. No worries!

Question 21. Jack and David are talking about social networks.


- Jack: “I think using social networks may have negative effects on students.”


- David: “______ It distracts them from their studies.”


A. That’s quite true

B. I don’t quite agree


C. You’re wrong

D. I’m not sure about that

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined bold word(s) in each of the following questions.
Question 22. School uniform is compulsory in most of Vietnamese school.

A. depended
B. optional
C. obligatory
D. required

Question 23. With an increasing number of people vaccinated against coronavirus, another wave of infection can be prevented.
A. built
B. opened
C. explored
D. stopped

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 23. James may get into hot water when driving at full speed after drinking.

A. get into trouble
   B. fall into disuse
         C. remain calm        
D. stay safe

Question 25. The company should allow flexible working hours so that its employees can avoid traffic congestion.

A. careful                        B. dangerous 
C. fixed
D. changeable
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

 Question 26. It isn’t necessary for us to discuss this matter in great detail.

A. We should discuss this matter in great detail.

B. We might discuss this matter in great detail.

C. We needn’t discuss this matter in great detail.
D. We mustn’t discuss this matter in great detail.

Question 27. The last time I talked to Rose was three years ago.

A. I didn't talk to Rose three years ago.
B. I have talked to Rose for three years.

C. I haven't talked to Rose for three years.
D. I hadn't talked to Rose for three years.

Question 28. He said: “What time will you get up tomorrow morning, Melda?”

A. He asked Melda what time would she get up tomorrow morning?

 B. He asked Melda what time she will get up tomorrow morning.

 C. He asked Melda what time she would get up tomorrow morning.

 D. He asks Melda what time she would get up tomorrow morning.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 29.  The man, a poor man, is invited to the Clambake last night.
A.The man
                  B. a 

         C. is                                    D.to the 
Question 30. Opening the letter from his boyfriend, she felt extremely excited.
A.Opening                               B. his                           C. felt                       D. excited 
Question 31.  I don’t think it would be political to ask for loan just now.
A.don’t think

       B.political
          C.ask                                     D. for
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions

Question 32. She is busy with work. She cannot attend the meeting. 

A. If she weren't busy with work, she could attend the meeting. 

B. Provided that she is busy with work, she cannot attend the meeting. 

C. If only she were here, she could attend the meeting. 

D. If she is busy with work, she can't attend the meeting
Question 33. James started working. He then realized that his decision had not been a good one.

A. No sooner had James begun his new job than he knew his decision was wrong.

B. Had James not begun his new job, he would have gone looking for a better one.

C. Since James did not like his new job, he began looking for a better one.

D. Just before James took up his new post, he realized that he was not suited for it.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to choose the word or phrase that best fits each of the numbered blanks from 34 to 38.
COPING WITH TRAFFIC
Many large cities around the world have struggled to keep up with the increase in traffic in recent times. Densely populated areas, growing car ownership, as well as narrow roads brought for much lower volumes of traffic all (34)______ to this. In 1975, Singapore decided to introduce a congestion charge - a (35)______ paid by drivers entering the most traffic-heavy zones of the city. London introduced a congestion charge in 2003.

Public opinion was initially opposed to the idea, (36)______ people soon became more supportive of the scheme. Despite this, its first decade brought mixed success, and the (37) ______ of cars in the city fell by only 10%. However, the scheme proved massively profitable, (38)______ allowed the city council to invest in other measures aimed at improving traffic conditions in London. These included cycle lanes, pedestrianized areas and better road surfaces.

(Adapted from Oxford Exam Trainer by Helen Weale) 

Question 34. A. result
B. cause
C. induce
D. contribute

Question 35. A. fine
B. fee
C. pension
D. wage

Question 36. A. or
B. but
C. so
D. and

Question 37. A. number
B. amount
C. other
C. little

Question 38. A. that
B. whose
C. who
D. which

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 42.
Australians place a high value on independence and personal choice. This means that a teacher or course tutor will not tell students what to do, but will give them a number of options and suggest they work out which one is the best in their circumstances. It also means that they are expected to take action if something goes wrong and seek out resources and support for themselves.

Australians are also prepared to accept a range of opinions rather than believing there is one truth. This means that in an educational setting, students will be expected to form their own opinions and defend the reasons for that point of view and the evidence for it.

Australians are uncomfortable with differences in status and hence idealise the idea of treating everyone equally. An illustration of this is that most adult Australians call each other by their first names. This concern with equality means that Australians are uncomfortable taking anything too seriously and are even ready to joke about themselves.

Australians believe that life should have a balance between work and leisure time. As a consequence, some students may be critical of others who they perceive as doing nothing but study. Australian notions of privacy mean that areas such as financial matters, appearance and relationships are only discussed with close friends. While people may volunteer such information, they may resent someone actually asking them unless the friendship is firmly established. Even then, it is considered very impolite to ask someone what they earn.

Question 39. Which best serves as the title for the passage?


A. A story about Australia

B. Australian culture shock


C. Things to do in Australia
D. Australian culture

Question 40. The word "them" in paragraph 1 refers to______.


A. circumstances
B. Australians
C. options
D. students

Question 41. In paragraph 3, most adult Australians call each other by their first names because ______.


A. Australians are difficult to remember people's surnames


B. Australians restrict class discrimination


C. Australians get on well with each other


D. Calling each other by their first names makes them friendlier

Question 42. The word "critical” in paragraph 4 is closest in meaning to ______.


A. faultfinding
B. grateful
C. complimentary 
D. appreciative

Question 43. Which of the following is NOT true, according to the passage?


A. Asking someone what they earn is considered fairly polite.


B. Australians are prepared to accept a range of opinions.


C. Students in Australia will be expected to form their own opinions.


D. A teacher or course tutor will not tell students what to do.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50.
The next time you're out in a public place, like a park or a restaurant, look around you. What is happening? Some people are surfing the internet on their phones. Others are wearing headphones, listening to music on their MP3 players. That's just the way life is today. We all spend a fair amount of our time connected to technology.

Now imagine living in a world without smartphones, tablets or any of the electronic gadgets we take for granted these days. There's no internet and you go to the library and look at a book when you want to find anything out. You play outside with friends in the real world instead of playing online video games in virtual worlds. There are no texts, no DVDs and no email. Welcome to 1986!

That's the world the McMillan family from Ontario, Canada, decided to live in for a year. Blair, 27, Morgan, 28, and their two sons Trey and Denton, aged five and three, got rid of their cable TV, smartphones, internet, new games console, digital camera, DVD player and sat nav, and instead used an old TV, a radio, old telephones, a VHS video player, an old games console and maps. They decided to try it after seeing how their young children were becoming dependent on technology. They aren't alone. More and more parents today worry about the effect technology is having on their children, particularly very young children.

The McMillans decided to get back to basics to see how things have changed. So how did they find their year without modem technology? ‘I thought Blair was mad when he suggested doing this whole thing,’ says Morgan, but it's made me realise how much time we wasted. We seem much more relaxed now, not checking in on email or Facebook all the time.’ The McMillans are now back in the present with a different attitude to today's technology. Blair said, ‘I'm not anti-technology. I wanted to taste, and I wanted my kids to taste what it would be like without it, and to see if we could actually do it.”

(Adapted from Optimise by Malcolm Mann and Steve Taylore-Knowles) 

Question 44. Which best serves as the title for the passage?

A. A Year without Technology
B. The Fresh Era of New Technology

C. A Day of Living without Your Phone
D. Technology in Times of Change

Question 45. According to paragraph 1, people nowadays ______.

A. tend to stroll around public parks frequently  
B. are only keen on reading news on the Internet 

C. lead an easier life

D. are addicted to using technology

Question 46. The word ‘fair’ in paragraph 1 mostly means ______.

A. limited
B. equal
C. pretty small
D. quite large

Question 47. The word ‘dependent’ in paragraph 3 is closest in meaning to ______.

A. reliant
B. stuck
C. pessimistic
D. confused

Question 48. The word ‘They’ in paragraph 3 refers to ______.

A. Electronic gadgets
B. The McMillans 
C. Modem parents 
D. Young children 

Question 49. Which of the following is NOT mentioned in the passage?

A. Life today is better and healthier than life in the past.

B. The McMillan family changed their forms of entertainment in their experiment.

C. Trey and Denton were very hooked on modern technology.

D. Many parents nowadays share the same concern as the McMillans.

Question 50. Which of the following can be inferred from the passage?

A. Blair was crazy about a life dominated by modern technology.

B. Life with lots of electronic gadgets might make the McMillans quite stressful.

C. Morgan attributed the success of her family’s experiment to Blair’s willingness.

D. The McMillans returned to the present because they’re fed up the life in 1986.

THE END

SỞ GD&ĐT BẮC NINH                                     ĐÁP ÁN ĐỀ THAM KHẢO KỲ THI TNTHPT NĂM 2023  
TRƯỜNG THPT PHỐ MỚI                                                              BÀI THI : NGOẠI NGỮ  MÔN THI :TIẾNG ANH
                                                                                   Thời gian làm bài: 60 phút; không kể thời gian phát đề
    Đề thi có 5 trang                                                                           ( 50 câu trắc nghiệm)
Họ, tên thí sinh:…………………………………………………………………………

Số báo danh:.................................................................................................................... 
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. fame
            B. baby
        C. many
   D. plane

Question 2. A. theory
            B. therefore
        C. neither
   D. weather

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in the position of the primary stress in each of the following questions.

Question 3. A. approve 
B. perform
C. finish
D. believe

Question 4. A. assignment 
B. library
C. paragraph
D. sympathy

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 5.The painting ______ by the artist captures the beauty of the landscape. 

A. paints 
B. painting 
C. painted 


D. is painting 
Question 6. Bao Yen sings ______than this singer.

 A. well
B. bad
C. better


D. more good

Question 7. She will find a bunch of flowers in front of her house ______.
A. once she opened the door
B. after she had opened the door

C. before  she opened the door
D. as soon as she opens the door

Question 8. Not many people are aware ______ male preference in this company.

A. with
B. on
C. about
              D. of
Question 9. The library is very quiet, ______?

A. wasn’t it                     B. isn’t it                   C. has it                             
D. is it
Question 10. My friend plays ______ guitar beautifully in a popular local band.

A. Ø (no article) 
      B. an 

       C. the 


           D. a

Question 11. The local clubs are making every ______ to interest more young people.
A. volunteer                   B. effort
C. donation 
            
D. fund 

Question 12. If Bill loses his job, at least they have Mary’s income to ______ on.

A. fall behind                B. fall for
C. fall back 

           D. fall under 

Question 13. Tom hopes ______ a solution soon.

A. to find

    B. finding

       C. find


           D. found

Question 14.  Martin is called the teacher's pet by his classmates because he is taken under his teacher's ______.

A. hands                        B. arms                        C. wings 
  
D. legs 

Question 15. We ______ about the future when the teacher came in.

A. were discussing       B. will discus            C. has discussed
             D. had discussed

Question 16. High schools across the country should ______ hands to address the problem of cyberbullying.

A. hold
B. shake
C. lend


D. join
Question 17. A new textbook ______  by that company next year.

A. will  publish        
B. will be published
C. are  published
             D. publish
Question 18. Parents should be ______ of their children’s decisions on future career.

A. support
B. supporting 
C. supportively 
            D. supportive
Question 19. Candidates applying for this position must have a master’s ______  in science.

A. diploma
B. degree
C. licence
            D. certificate

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each of the following exchanges.

Question 20. Hung is inviting Lan to join the youth club.

- Hung: “Would you like to join our youth club?”

- Lan: “______”


A. Thanks a lot! 
B. My pleasure. 
C. Yes. I’d love to! 
D. No worries!

Question 21. Jack and David are talking about social networks.


- Jack: “I think using social networks may have negative effects on students.”


- David: “______. It distracts them from their studies.”


A. That’s quite true

B. I don’t quite agree


C. You’re wrong

D. I’m not sure about that

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the underlined bold word(s) in each of the following questions.
Question 22. School uniform is compulsory in most of Vietnamese school.

A. depended
B. optional
C. obligatory
D. required

Question 23. With an increasing number of people vaccinated against coronavirus, another wave of infection can be prevented.
A. built
B. opened
C. explored
D. stopped
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions.
Question 23. James may get into hot water when driving at full speed after drinking.

A. get into trouble
   B. fall into disuse
         C. remain calm        
D. stay safe

Question 25. The company should allow flexible working hours so that its employees can avoid traffic congestion.

A. careful                        B. dangerous 
C. fixed
D. changeable
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 26. It isn’t necessary for us to discuss this matter in great detail.

A. We should discuss this matter in great detail.

B. We might discuss this matter in great detail.

C. We needn’t discuss this matter in great detail.
D. We mustn’t discuss this matter in great detail.

Question 27. The last time I talked to Rose was three years ago.

A. I didn't talk to Rose three years ago.
B. I have talked to Rose for three years.

C. I haven't talked to Rose for three years.
D. I hadn't talked to Rose for three years.

Question 28. He said: “What time will you get up tomorrow morning, Melda?”

A. He asked Melda what time would she get up tomorrow morning?

B. He asked Melda what time she will get up tomorrow morning.

C. He asked Melda what time she would get up tomorrow morning.
D. He asks Melda what time she would get up tomorrow morning.
Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions.
Question 29.  The man, a poor man, is invited to the Clambake last night.
A.The man
                          B. a 

         C. is                                    D.to the 

Question 30. Opening the letter from his boyfriend, she felt extremely excited.
A.Opening                               B. his                            C. felt                                  D. excited 
Question 31.  I don’t think it would be political to ask for loan just now.
A.don’t think

               B.political
                    C.ask                                     D. for

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions

Question 32. She is busy with work. She cannot attend the meeting. 

A. If she weren't busy with work, she could attend the meeting. 

B. Provided that she is busy with work, she cannot attend the meeting. 

C. If only she were here, she could attend the meeting. 

D. If she is busy with work, she can't attend the meeting
Question 33. James started working. He then realized that his decision had not been a good one.

A. No sooner had James begun his new job than he knew his decision was wrong.
B. Had James not begun his new job, he would have gone looking for a better one.

C. Since James did not like his new job, he began looking for a better one.

D. Just before James took up his new post, he realized that he was not suited for it.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to choose the word or phrase that best fits each of the numbered blanks from 34 to 38.
COPING WITH TRAFFIC
Many large cities around the world have struggled to keep up with the increase in traffic in recent times. Densely populated areas, growing car ownership, as well as narrow roads brought for much lower volumes of traffic all (34)______ to this. In 1975, Singapore decided to introduce a congestion charge - a (35)______ paid by drivers entering the most traffic-heavy zones of the city. London introduced a congestion charge in 2003.

Public opinion was initially opposed to the idea, (36)______  people soon became more supportive of the scheme. Despite this, its first decade brought mixed success, and the (37) ______ of cars in the city fell by only 10%. However, the scheme proved massively profitable, (38)______ allowed the city council to invest in other measures aimed at improving traffic conditions in London. These included cycle lanes, pedestrianized areas and better road surfaces.

(Adapted from Oxford Exam Trainer by Helen Weale) 

Question 34. A. result
B. cause
C. induce
D. contribute
Question 35. A. fine
B. fee
C. pension
D. wage

Question 36. A. or
B. but
C. so
D. and

Question 37. A. number
B. amount
C. other
C. little

Question 38. A. that
B. whose
C. who
D. which
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 39 to 42.
Australians place a high value on independence and personal choice. This means that a teacher or course tutor will not tell students what to do, but will give them a number of options and suggest they work out which one is the best in their circumstances. It also means that they are expected to take action if something goes wrong and seek out resources and support for themselves.

Australians are also prepared to accept a range of opinions rather than believing there is one truth. This means that in an educational setting, students will be expected to form their own opinions and defend the reasons for that point of view and the evidence for it.

Australians are uncomfortable with differences in status and hence idealise the idea of treating everyone equally. An illustration of this is that most adult Australians call each other by their first names. This concern with equality means that Australians are uncomfortable taking anything too seriously and are even ready to joke about themselves.

Australians believe that life should have a balance between work and leisure time. As a consequence, some students may be critical of others who they perceive as doing nothing but study. Australian notions of privacy mean that areas such as financial matters, appearance and relationships are only discussed with close friends. While people may volunteer such information, they may resent someone actually asking them unless the friendship is firmly established. Even then, it is considered very impolite to ask someone what they earn.

Question 39. Which best serves as the title for the passage?


A. A story about Australia

B. Australian culture shock


C. Things to do in Australia
D. Australian culture
Question 40. The word "them" in paragraph 1 refers to ______.


A. circumstances
B. Australians
C. options
D. students
Question 41. In paragraph 3, most adult Australians call each other by their first names because ______ .


A. Australians are difficult to remember people's surnames


B. Australians restrict class discrimination

C. Australians get on well with each other


D. Calling each other by their first names makes them friendlier

Question 42. The word "critical” in paragraph 4 is closest in meaning to ______ .


A. faultfinding
B. grateful
C. complimentary 
D. appreciative

Question 43. Which of the following is NOT true, according to the passage?


A. Asking someone what they earn is considered fairly polite.

B. Australians are prepared to accept a range of opinions.


C. Students in Australia will be expected to form their own opinions.


D. A teacher or course tutor will not tell students what to do.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 44 to 50.
The next time you're out in a public place, like a park or a restaurant, look around you. What is happening? Some people are surfing the internet on their phones. Others are wearing headphones, listening to music on their MP3 players. That's just the way life is today. We all spend a fair amount of our time connected to technology.

Now imagine living in a world without smartphones, tablets or any of the electronic gadgets we take for granted these days. There's no internet and you go to the library and look at a book when you want to find anything out. You play outside with friends in the real world instead of playing online video games in virtual worlds. There are no texts, no DVDs and no email. Welcome to 1986!

That's the world the McMillan family from Ontario, Canada, decided to live in for a year. Blair, 27, Morgan, 28, and their two sons Trey and Denton, aged five and three, got rid of their cable TV, smartphones, internet, new games console, digital camera, DVD player and sat nav, and instead used an old TV, a radio, old telephones, a VHS video player, an old games console and maps. They decided to try it after seeing how their young children were becoming dependent on technology. They aren't alone. More and more parents today worry about the effect technology is having on their children, particularly very young children.

The McMillans decided to get back to basics to see how things have changed. So how did they find their year without modem technology? ‘I thought Blair was mad when he suggested doing this whole thing,’ says Morgan, but it's made me realise how much time we wasted. We seem much more relaxed now, not checking in on email or Facebook all the time.’ The McMillans are now back in the present with a different attitude to today's technology. Blair said, ‘I'm not anti-technology. I wanted to taste, and I wanted my kids to taste what it would be like without it, and to see if we could actually do it.”

(Adapted from Optimise by Malcolm Mann and Steve Taylore-Knowles) 

Question 44. Which best serves as the title for the passage?

A. A Year without Technology
B. The Fresh Era of New Technology

C. A Day of Living without Your Phone
D. Technology in Times of Change

Question 45. According to paragraph 1, people nowadays ______ .

A. tend to stroll around public parks frequently  
B. are only keen on reading news on the Internet 

C. lead an easier life

D. are addicted to using technology
Question 46. The word ‘fair’ in paragraph 1 mostly means ______ .

A. limited
B. equal
C. pretty small
D. quite large

Question 47. The word ‘dependent’ in paragraph 3 is closest in meaning to ______ .

A. reliant
B. stuck
C. pessimistic
D. confused

Question 48. The word ‘They’ in paragraph 3 refers to ______ .

A. Electronic gadgets
B. The McMillans 
C. Modem parents 
D. Young children 

Question 49. Which of the following is NOT mentioned in the passage?

A. Life today is better and healthier than life in the past.

B. The McMillan family changed their forms of entertainment in their experiment.

C. Trey and Denton were very hooked on modern technology.

D. Many parents nowadays share the same concern as the McMillans.

Question 50. Which of the following can be inferred from the passage?

A. Blair was crazy about a life dominated by modern technology.

B. Life with lots of electronic gadgets might make the McMillans quite stressful.

C. Morgan attributed the success of her family’s experiment to Blair’s willingness.

D. The McMillans returned to the present because they’re fed up the life in 1986.

THE END
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